Multiplication facts - 9's: Activity 2
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bowl?

The rider completed the
track once each day for 94,
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track?

The total weight of the
drums are shown.
What's the weight of
each drum?
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The total capacity of all

the containers shown is

18 L. What's the

capacity of each

container? ‘ ‘ ‘ ‘
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There are 36 chocolates
in a box. Shared
between 9 children,
how many chocolates
will each child get?
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Froggy completed 9

equal jumps. How far
was each jump? % e e e e e e
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There is a total of 27 ice
creams in 9 boxes. How
many ice creams in each
box? ice cream
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There are 63 marbles in
a bowl. If 9 children take
turns picking out a
marble until none are
left in the bowl, how
many marbles will each
child have?
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